B4R FERIT Y VAR R—YEHRBEARE /FEIEEHTRE VAR R—YHRE XS
BALRT2—)L

BAR | No. ES #H || F%E | No. kS B
9:30 &R (15%) 13:42| 26| 4 fREERGVE - HERB | WT
9:45 | 1|CHEZT 1 1RF#E | SR 27| 2 #RERAIVY -1 R | WF
2|DIRES T 1 1RFE | SR 28| D #RELRGVE -1 1 HERBE | WF
3|CHRERS T 1 2R FZE | SR 29| CH#RELRGVE -} 1 HEREE | WTF
10:09| 4| 18> T R | SR 30|Y=FII ARAAVY -V [HEREE | WF
5|DIREL S T 1 R | SR A23—1\)L (59)
6|CHREX S T 1 #RM | SCR[|14:06| 31| 4 #REAIVE - R WT
10:21| 7|1 >T > R SR 32| 2 {REKRGVE - R WF
8|DRE T T 1 R SR 33| D #RkELAIVE - 1 R WF
9|CHRE S T 1 R SCR 34| CHRELAIVE - 1 R WTF
A28—3)L (1053) 35(y=7I0 ARAIVS - |iRE WF
10:45| 10|CHRES T > 2 1TRFE | CP [114:28 ZAUE —RE Bt
1|3 mEs5 #ap | OR (4.2.D1,C1, Y=FTIIAKR) 1553
12| DIRES T2 HRM | CP ||14:43| 36| CHRERIVI -} 2 1RFE| TQ
13|CHRE ST 2 #RBE | CRP 37| D #RkEAIVE -} 2 1RFE| TQ
1419270 ARELS T  |#EREE | SCR 38[Yy=7 I AFREXRGVY -} | 1RFE [ WTF
11:10| 15/ 3REE> T > R CR 39| CHRERRGVE -} 2 2RFE| TQ
16|DIRE ST 2 R CP ||15:18| 40| 3 #kE#krsvy -+ HEREE | WT
17|CHRE>T2 R CRP 41 1 ERERRIVE - HERBE | WF
18|1Y2TI ARRER S T  [RES SCR 42| D #RBRRGVH -1 2 #EREE | TQ
11:30 S5 &8st 43| CHRERIVY -1 2 R | TFQ
BR(4573) 44|y=7 T ASRBRASVY -F |EsRES | wTF
12:15| 19| D#RELAIVE -} 1 1TRFE| WF A253—8)L(1053)
20| C #REBRAGVS -1 1 1RFE | WF [[15:49| 45| 3 #RERRGVS -} R A WT
12:46| 21| D#RELRIVY -1 1 2RFE | WF 46| 1 FRERRGVS -1 R WF
22| CHREEAIVE - 1 2RFE| WF 47| D #REAIVE -1 2 R TQ
A258—1N)L(105) 48| CHRELAIVY -} 2 RS TFQ
13:21| 23[Y=7I AKRAIVY - | TRFZE| WF 49(Y=7 I AFRERRGVY -1 |iRES WTF
24| DARERSVE -1 1 3RFiE | WF [|16:13 2AUE—REB
25| C #REEASVY -1 1 3RFE | WF (3.1.D2, C2, =7 T A#R)
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